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Answer all the questions, '

Wrlte your Index Number In the space provided in the answer sheet.

Instructions are alvo glvan on the back of the answer sheet. Follow those carefully.
In cach of the questions 1 to 50, pick one of the alternatives from (1;%(2)5(3)7 (4), (5)
which is correct or most approprinte and mark your response ongthe answer sheet with

a@ crosy (x) in accordance with the instructions given on the back of, the™amswer sheet.
4 Use of calculators Is not allowed, :

v
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11,

. Which of the following® is usually used to boot-up personal computers?

o0 )NKeeping Inputs for processing (2) Holding instructions for operations

The exccution of a series of non-interactive jobs on 4 personal computer with relative to the user is known as

Who proposed the stored progrum concept first?
(1) Lady Ada Augusta (2) Charles Babbage (3) Howard Aiken
(4) Blaise Pascal (3) Von Neumann

Which of the following components is generally scen ouffidefie Central Processing Unit (CPU) of a computer?
(1) RAM (2) Control Unit (3) ALU
(4) Generul purpose registers  (5) L1 cache memory

What i3 the two's complement representation of 45, if an Integer {s represented by 8 bits?

(1) 11010011 (2) 10110041 (), 1001101 (4) 00101111 (5) odl1o1101
Which of the followings is another name fr web publishing?

(I) Offline publishing ), Deskiop’ publishing (3) Media publishing

(4) Online publishing (99 Sellpublishing

Which of the following se€midary sloruge devices is generally considered to provide the fastest access to
data? :

(1) Compact Disc (2) Digital Versatile Disc (3) Internal hard disk
(4) Magnetic t1apé (5) Floppy disk

(1) Firmware (2) Malware (3) Adware (4) Ransomware (5) Liveware

Which of\the followings Is a maln use of Complementary Metal-Oxide Semiconductor (CMOS) memory of
agpersonal “ggmputer? ’

(3y=Proyiding space for loading operating system  (4) Retaining information for output
(5) Keeping Basic Input Output System secttings for the booting procedure

(1) multitasking. (2) multiuser processing. (3) multiprocessing.
(4) batch processing. (5) onlinc processing.

Which of the following numbers is equivalent to the binary number 1011117

(1) 57, (2) 57, (3 57, @ 59, = 3,
5D, + 10111, = o

(1 73, ) 75, (3) 116, @) 163, (5) 164,

What is the binary representation of 9257
(1) 1H001TI01 (2) GOO0I00LOT  (3) 0000100101 (4 1000100101 - (5) 1000100101

0 - Information and Communication Technology (Marking Scheme) 1| G.C.E. A P

on 17 | Amendments ta be Included.
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2 on mahcn-bonrd‘ 19 uged to expand the functionality of n computer.
= Q’mchoth;fouowmgs 1s the most appropriate 1O fill In the blank In tho above stufement”
| () Buws @ Clock (3) RAM (4) Slot (%) ROM

13. Consider the following HTML code!
!

<head>

’

| <itle>Coumtries</title>
f <head>
i <bady>

qo<!— <hl> $ri Lanka </h1> -></p>

<body>

<htmi>
| Which of the followings correctly deseribes the display, when the Evo'ctxh is rendered?
(1) The text “Country” appears on the tille bar and the teXt=E LAnka" appenrs us @ header.
(2) The text “Sri Lanka” appears on the title bar and, the text “Gountry™ appears as a header,
(3) The text “Country” appears on the title bar. \
(4) The text “<!—<hl> Sri Lanka <hl>-->" ap title bar.

(5) The text “<l—<hl> Sri Lanka </h1>—->Q‘ in the body of the web page.
fi

14. Consider the “Submit” button of an HIML given below:

petly implements the intended function of the above “Subm

button?
(1) <input type = "submit"
(2) <nput type =" 1" val ubmit">

(3) <button type = "butteon® >5ub it</ button>

(4) <button type > button>

(5) <button type = value = "Submit"></ button>

15. Which of the follewing CSS rules renders the image in the file “school.png™ as the background of a web pag
(1) body { background = *school.png"; }

(2) body { backgronnd: url ("school.png"); }
(3) Y { backgl’ound-image = "SChOOl.png"; }
¢ @ { backgrOund-image; ”schml‘pngn; }

body { background-image: url ("school.png"); }

" 19 electronic mail systems, the protocol used by mail clients to retricve messages from the mail server is
1) Simple Mail Transfer Protocol (SMTP). (2) File Transfer Protocol (FTP).
(3) Internet Control Message Protocol (ICMP). . (4) Internet Message Access Protocol (IMAP).

(5) Telnet.

17. The transport layer protocol User Datagrum Protocol (UDP) can be used for
(1) reliable communication, (2 guaranteed delivery.
(3) connection oriented communication. (4) ordered delivery.

(5) exchanging state information among routers.

18. Which of the following statements regarding MAC addresses 1s correct?
(1) Every network device has a unique MAC address.
(2) Every network host has a unique MAC nddress.
(3) Every network intetface has a unique MAC address.

(4) It is assigned for a device at the tlme of installation,
(5) It is used for routing.

19. The first and tl.ie last IP addresses of a subnet are 192.19248.0 and 192.192.63.255 respectively. Which «
the followmz 5!3 the subnct ‘mask of this submet?
(1) 2552552550 @) 2552551920 (3) 255.255.255.192
%)) 255.255.240.0 (5) 255.240.0.0
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{1) host address in a dass B petwork. (2) network address of a class C network.
3 dost address in 172.16.48.0/24 subnet, (4) network address of a subnet with 255 hosts.
{3) host address with § network bits.

; 21, In TCPIP computer networks, Transport Protocol Data Unit (TPDU) is referred (0 as a Y
5 {1) packet. (@) frame. (3) scgment. @) window. (5) message.

2. Which of the following statemeats best describes a nice to have non-functional requirement of an Automdted
Teller Machine (AITM)?
(1) System shall facilitate users to withdraw money.
{2) System should et users to deposit money.
(3) System shall use 256-bit encryption for all communications,
{2} System should provide users a touch screen interface.
(3) System shall dispense monsy within 5 seconds.

v

23. The following symbol, appeared in a Data Flow Diagram (DFD) of a Sales Informatign System, represents a
........................... cootaining payment details.

T1(M)| Payment

’

! Which of the followings is most appropriate to fill in the blank infthe above statement?
(" fle wmay , 2) cardboard file
(3) ftile cabinet (4) data file in a hard disk
(3) temporary data file in a hard disk

24. Which of the following dataflow dingrams is correct ‘With respect to the rules of dataflow modelling?

) -
B

R\
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25. Consider the following flow chart:

/mml n value for x/

What is the error with the above flow chart?

(1) 1t has two end symbols. (2) Print s ot a valid keyword.
(3) It bas ho process box. (Pmlt\ifas two print symbols.
{5) A flow direction is not correct.

26. Which of the following statements is true about e-Business?
(I) It is a business process which conducts partially on online.
(2) 1t consists of front-end and back-end™enline processes.

(3) All ‘brick vendors' conduct their busifess on online.

(4) Any c-commerce application,is an c-business application.
(5) Any c-business application i§ an c.gommerce application.

27. Students in a school arvegiven tablet computers to improve their studies. Which of the followings i the

most appropriate activity to achi€ve this objective?
(1) Downloading compuicrized study material (2) Watching entertainment videos

(3) Instant messaging among friends (4) Blog writing

(5) Playing computer games

28. Which of the following statements Is ttue about Artificial Imclligcncc"

(1) Inference Engine in an Expert System completely mimics human decision makinz process.
(2) Knowle¢dge Base in an Expert System consists only the primary knowledge of an expert.
(3), Expert Systems are always implemented by using Genetic Algorithms.

(4)_Genetic Algorithms provide only on¢ solution to a given ‘problem.
| f5) Genetic Algorithm evolves a solution for a given problem over a number of iterations.

29. Which of the following statements is true about algorithms?
(1) A set of steps used to solve a problem is called an algorithm.
(2) A sequence of actlvities used to solve a problem is called an algorithm.
{3) To solve any problem, there can be at most one algorithm.
(4) An algorithm can contain an infinite number of steps.
(5) An algorithm does not need to términate within a finite time.

30. Requirements of a system can be classified as Mandatory (Essential), Desimable (Optional), Functiomal 2=

Non-functional.
“ATM of a bank shall not allow more than three attempts to enter a user’s secret number incorrectiy

Which of the followings correctly classifies the above requirement?

(1) Mandatory, Fonctional (2) Mandatory, Non-functional
(3) Desirable, Functiomal - (4) Desirable, Non-functional
(5) Mandatory or Desirable, Fupietional

teoslam Tarhnalami I faclta om0 .

( st ) . g
e gy ‘5\. :\‘
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% ® Consider the following relation to answer questions 31 and 32:
H

Student (index_no, national_jd_no, name, date_of_birth, gender, blood_group)

where index_no is a unique attribute and the name attribute fully depends on the index no altribute

31. Which of the following statements is correct with respect to the normal form of the above relation?

(D) It is in the zero normal form. : (2) 1t is in the first normal form.
(3) It is in the second normal form. (@) It is in the third normal form. \
(5) Its normmal form cannot be decided. 4

; 32. Which .of thf: followings can be a candidate key of the above relation?

l; (1) national_id_no (2) name (3) date_of birth (4) gender (5) blood_group
i

!

® Consider the following relations to answer questions 33 to 36:
book (book_no, title, publisher, edition)
author (author_id, name, email_address)
bookAuthor (book_no, author_id)

where book_no and author_id are unique attributes in the relations book and author fespectively.

» Which of the following statements is correct with respect to the relation bookAuthor?
(1) book_no is the primary key. (2) author_id is the*primary key.
(3) Any single attribute can be a candidate key. (4) author_id is@ candidate key.
(5) book_no is a part of the primary key.

’

34, Wh:ch of the following Entity Relationship (ER) diagrams comeétly represents the relationship between the
: cnuties represented by the above relations?

1 m
) - @ \ uthor
| 1
(2) book @ author
m I
3) book author
n
i m m
! (5) book author

. 35. Assume that above relations are converted into tables in a relational databasc The following SQL query is
| executed on_the\database:
! SELECT * FROM bookAuthor

Which of fhe following statements is correct reganding the output of the above SQL query?

(1) It cannot be an empty table.

(2) tive column is in it.

i (3) name column is in it.

(4) All the tables book, author and bookAuthor are used to produce the output.
(5) All records in the bookAuthor table are in the output.

36. Consider the following statements regarding the Data Definition Language (DDL) used to create the table
bookAuthor while maintaining data integrity:
A - It has a primary key constraint,
B - It has a foreign key constraint.
C - It has a domain constraint.
which of the nbove statement/s is/are correct?

(1) A only (2) A and B only (3) A and C only
(4) B and C only () Al A, Band C

0
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37. Which of the following organs is a part of a closed system of the bog) Lung
(1) Bye @ Bar - () Hemt 2 el

J8. Which of the following statements Is correct?

(1) Application software load applications into the main memory.

{2) The programs stored in ROM are known as system software. : By
() System software support data communication between peripheral devices. ™ Y
(4) Utility software is generally stored in ROM. | :
(5) Utility software arc incorporated in washing machines.

-

<

39, Consider the following data input devices: ]
A - On screen keyboard (virtual keyboard) -
B - Bar code reader N
C - Magnetic card reader
Which of the above devices can be used to input data more efficicatly?
(1) A only (2) B only () C only (4) Agand\B dniy®(5) B and C only

40. Consider the following statements regarding CSS used in HFML:

A - One style sheet can define the rendering of HTML elements ip multiple documents.
B - No additional download is needed to import style“sheets.

C - The HTML document must include a <link> 3.

D - The style attribute is required in the relevant\elements

Which of the above statements are correct wifen using,External Style Sheets?

(1) A and B only @) A and Chonly (3) B and D only

) A, C and D only (3) B, C and Dyonly

41. Which of the following statementsdabout Python data types/expressions is correct?
(1) String is a mutable datd type.
(2) List is an immutable data type.
3) (1, 2, 3] is a tuple. , )
{(4) The expression [1, 2, 3]"{lJ\sill prodece [2] when executed.
(5) The type of {"a:1,%:(1, 2)} is a Dictionary.

42. Consider the folldwing values:
A - 23e2
B - TRUE
C - "This isnit a string"
D i "
Which of the above values are valid in Python?
(1A and B only (2) A and C only (3) B and C only
(4) A, B and C only (5) A, C and D only

43.\Consider the following Python statement:
temp = [1, 2, 3, 4, 5, 6] 2:2]
Which of the followings is the value of the variable temp after executing the above statement?
246 (2 3,5 3 12,3] @ 13, 5] (3) 12,4, 6]

44, Consider the following statements;
A - a=b=2+3
B - a,b=23
C- ab=(2,3
D - a=(2,3)
Which of the above are valid assignment statements in Python?
(1) A and B only (2) B and C only (3) C and D only
4) A, B and C only ) AWA,B,Cand D

i
i
{
{
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| 45. Coasider the following Python cxpressions:

A - True or False and True
B -3 > 2 and False

- {2, 3} == {3, 2}
D -@2,3)=03.,2

Which of the above expressions would result in the Boolcan value True?

(1Y A and B only (2) A and C only

(4) B and D only 4 (5) C and D only F
. The content of two files with names “in.csv™ and “out.csv” are shown in the figures “Fig. 1™ afidy:Fig. 2"
respectively.
Ruvan, 20,50 Ruvan 20 50 70 3
Ramesh, 0,5 Ramesh 05 5
Raj, 10, 10 Raj 101020
Fig. 1 incsv Fig. 2: outesv

Which of the following Python programs can be used to transform the data in“in.csv”

the file “out.csv™?

\

(3) B and C only

to the content of

f2=open("out.csv", "w")
for line in f1:
items=line.strip().split(",")
tot=int(items(1]+intGtems|[2))
print(items[0] fitems| 1] items(2], tot, file = f2)
f1.close()
12.close()

nH 2)
f1=open("in.csv", "r") fl=open(tin.csv", "r")
f2=open("out.csv", "r") f2=open(iouticsy”, "w")
forlinein f1: for linc in f1:
items=linestrip() split(",") items=line strip(Q
tot=int(items[ 1 ])+int(items[2]) tot=int(items[1])+int(items[2])
print(items|0], items[1], items([2], tot, file = £2) print(items[0), items[1], items[2], tot)
f1.closeQ) f1.closeQ
2.close() f2.close)
3) @
f1=open("in.csv", "r") f1=open("in.csv”, "r")

f2=0pen(“out csv", "w")
for line in f1:
items=line.strip() split(",")
tot=items(1}+items(2]
print{items|(0], items[1], items([2], tot, file = £2)
f1.closeQ
2.close)

&)
f1=opé( in.csv", "r")
2=open(“Qut.csy", "w")
fopline in f1:
itéms=line.stripQ split(",")
tot=int(items[ 1 ])+int(items[2])
prnt(items|0], items[1], items[2], tot, file = [1)
f1.close()
f2.close()

47. Consider the following statements on using NAND, NOR gates over NOT, AND, OR gates when constructing

logic circuits:
A - They make logic circuit design simpler.

B - They belp to construct logic circuits that consume lcss electricity.
C - They make logic circuit construction more econamical.

Which of the above statements islare correct?
(1) A only (2) B oaly

() A and B only (4) A and C only (5) B and C only
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‘ list of integers?
AR Which of the Rullowlng functions gives the sum of all elements in any &

<):
(1) def Ty () def fx)t @ dﬁ(ol
e x|n) s =x[0] " foriin x: \
for | In rmge (U, len(x)): for | In range (1, len(x): s=s+i t
wen il w=g4

fotum return s Sl
(4) ol T0x) (5) def f(x):
aml s=0 ‘
foriinx: 1=0
w=sd x[1) while i < len(x):
return 8 =g+ x[i]
feturn 8 ?

49, Consider the following system Implementation methods:

A - Direet .
B - Mot
C « Pamllel

Which of the above method(s) Is/re generlly used to ImTﬁ a home security system?

A RS e

(1) A only (2) B only @) C only
) () A and B only (5) A and C only
" Aﬁnnsidcr the followlng elauses:

A - can response to relevant environment chan
B - always acts nccording to well-defined user instructions
C - performs only pre-defined set of

D - can make decisions under incom ation

Which of the above can be dered a8 properties of software agent system?

(1) A and B only A C only (3) A and D only
(9 B and C only and D only

Q ® 4 ¥
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Q. Answer Q. Answer Q. Answer Q. Answer v Ané
No. No. Na. No. No. s
1. 5 11, 2 21. 3 31. 4 aq, 5
2. | 12, 4 22. 4 32. 1 42, 2
3. 5 13. All 23, 1 33. 5 43, 4
4, 4 14, 1 24, 3 34, 4 44, 5
5. 3 15, 5 25, 5 35, 5 45, 2

6. 1 16, 4 26. 274-| | 36. 5 46. 3

- 5 17. 5 27. 1 37. 3 47. 5

8. All 18. 3 2€. 5 38. 3 48. 3

9. 1 19. 4 29, 2 39, 5 49. 5
10. 5 20" 3 30. | 2 40, 2 50. 3
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the sales information system of
L. Fill in the blanks in the following Data Flow Dgrer (Figure 1.1) ofﬂw : won given below.
a company called Bookland, only by using the words in Boldface in the descrl
re usually not available from

i hich &
Bookland is a book store that specializes In selling rare books, ¥ g |y
other sources. As a practice, Bookland maintains just a one copy of any book at a ume |

higher price of rare books. ¥tand
Typically, a customer makes a book enquiry over the phone from the Sales As;m:;o: ; in their
She then goes through book detalls in the Inventory file to check whether such 2
stock. If the details of the book Is found in the Inventory
the Hold-on Requests tray to make sure that the’ book statos
the enquiry. If the book status is ‘available’ and the customer wishes to'fesene,the
takes customer's personal details and places a hold-on request agalnst, that book

Requests tmy making the book no longer available.
the Cashier at Bookland

When the customer comes to make the myﬂcnt and’ collect “the=books
refers to the Hold-on Requests tray and finds the relevant hold-on requcst ma

there is a valid hold-on' request, she then accepts the. payment from the customer, issues a payment
receipt to the customer, and finalizes the sale. The customet.is \then allowed to take

The Cashier also files the ¢opy of the payment y€eiptiin the Sales file, uses it at the end of the
day to dompile a sales report and sends it to thie Owner of the Bookland. After every sale, the

Cashier updates the book details in the Inventory file and keeps the stock up to date. When the
Owner supplies books to Bookland, he sends details of books to Cashier and the Cashier adds them

one by one to the Inventory file.

.

eplyto /| NNy
the enquiry ; /
\ 2
i lEae axsmnd Hand, ........
book book ¢ |
.......... —p Hﬂnd!c ‘—demils —{K{l Invcntory "—"dem“s — paymcnts ML
enquiries & inventory
& hold-on T
 requests | / \
ANt Weeesseabiensiy . copy of the
. = payment receipt details of
Tl books
hold-on request ———— o . 1
.............. i

.

Figure 1.1: Level 1 Data Flow Diagram of Sales Information System of Bookland

f
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2. (a) In an operating system, what are the events that change the state of a process in the ‘running’ Do not

1 desdenstensssvievevasarrerITasecsiusinssesrereneans . -
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(b) Explain the main actions performed by an operating system during confexteswitehing.

seressaverecatesecresentrreterasnstntan teasenen cesesccecesrossectacssnsssscsccsassesscsscosfbeveedecseerccacocsoceccoccsaccoe
..... corsmsssnetsansasae ket alieies s Eesiebsasterastacsarsayrecseceriartelscsiesteissesuer ciIIOTNescseRSitRas iSOyt orEse
........................ ceveceesencsenanessesesssstesc stenanassronssesece N N 0o ueesseeeeeersratIIIereToTrRonI0e00ins

| sasevsiesenree ...............-..-.........u..--uu---o--u..n..-..u.-u.n-.--..-..--.-..--..--.--.

wessssrsessnserssarescntcesstsnasiioncnriBcastdecacrone estsssaesveeaseRetisanTeseETeTsORTEROROS

’
n-o.u.u--...-.....--.u--..--u...-u-u-uou..--.o-ou--..n-----u-nn«u--uc.--u-un-n-

(c) Explain what will happen during the booting process of a computer.

ssescsssrscessssvsurerate

i .............--..--..-.-..n.n-.-.-.-..-....uu.-u.--h.m-n..-....-.....-.......-.-.......-.---...---.-.....-...........

§

I ssesvececscsssseseces sesesssnscsssesenacan TSR  TerErsTPsTrrrrrereeer e ST PTTTTTR LIRTLL LIS LEAAILAAS A L ASad A A0t
]

i ---------------------------------------- sensshensedpgecsenean e T L LT R R L R A L A R AL A R L A AR LR b
H

! eecessvecssssataseresaresesrsisan A renseasetoTe e T L L LR L L LR R R LI LS A LA R L AR AR A RS A Al At
t

f esecscacscescsececccecnigy B hcsesseneifosesensessoeserasarsssseset totuatsssesssreressssrersesarartnssesistrrontocnnccnnonsnnss
H

L sessesssscecsscce .-.........-n-;._-aq----.-------u-o-----.....................-..-....-.-.-..-u---.uouuuu-.n-;-..-uo.. D
i

’3. (a) G) Write three key conditions 10 be satisfied in order to classify a transaction/service between
two persons as B2B in e-commerce.

R (R [T PP PP PRI IE R L DR L R AL DR LI LR R SR
,,,,,,,,,,,, e eeeuesenesseesseessestessEETeSeTESseIeTINILaNeINNeEIelttiitetaE T e et E sttt e st s e R e
..............................................................................;.................................. asesinien
............ T
............ L LLLLL LT EL TR LR

csaneure ----...--.-uun--.u.-..-.n...-..-u.u.-....-..n-..-u-uo---.----un...n...-...u..u
........ esessassusrencanse .

(i) If the seller in the above transaction is replaced by a software agent, state the key proactive
behaviour that software agent shall have.

.
------------- ............-..........-.---on--1-u----.-.----.uu--.-.--..-..'.....u..-.'".n.-n--u-.---nou-uu »

' . seesssaccen
R TR T L csvessvac ---.--u-u-.-..n.u.-00nnu-uu.......-.....-u-c-u-n seaceree

.o R L LI R L L)
............. ...--.-..............u-...--...----....‘-....-...-.-.-.-..-.-...-..n-....u.-..u.» ssevseny

eesasanssssUsRERETITIAOTES
................ ..................‘---..------no--u.'----..-...-.......-...-...-...n.o-----u . . v
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(b) The following SQL statement

. (@) (i) The Figure 4.} represents/an open system. Using the basic components: input, process,

has_been used to create 2 tabl %

create ‘table student{

stadent_no char(5), Coly,
name char(30),

address char(100),
primary key (stadent_no)

@) Write a query in SQL to add the following data to the student table. ‘ ) AL

Student number'— 10001
Name - — Saman Kumara
Address - 78, Mahara road, Maharagama

ETY Y. CEEEERALALES
"""" '-n-n-uun-o-n“......u--.‘...uu....n-cnon-uon--nn-u-n.-uu-n.n-
reotsse s ROt esOR LI sEL
P N T N T TR T R R ) tesssanss esedentensrve sV vosspssear B
P

. . vavsas

Xsdttoln Fabadotib s tbn Ao vosesrnes indsossbrncssnssar de . sas el . es s "."'.“lN‘.l‘O' .
sesenen seerne

...................

D LR R TR
...................

------ B Ry T e e T P DY R TR C AL LR R
'

Asevsdenvsennssusacernine vesalbecsressesvalboscssasssrnansasennes

@) If the address of the student entéred™dn‘@he (i) above should be changed to
13, School Lane, Jaffria, writs a query i SQL to‘update the relevant record in the student
table.

...........................................

cevenaversoraracnbrersblBmeissratinaiatras e etssssesvesarisssatnatssssisastasrarenicstresaraer

output and gystem bpundary ‘as given in the figure, draw a diagram to represent a closed
system. '

pom e —— - — = 1
Input ——————> t—————>Output

Figure 4.1: An open system

e in a database. \\

<e-_ Tarhnnlnov Markino Srhamal | G € F {A/1) Fyamination - 2017 | Amendments to ba Included.
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(D) Bxplain the reason for drawing the diagram which you drew for (i) above.

S

() A penson can own one¢ of more mobile phooes. One mobile phone belongs to a single
only. Assume that a mobile phone can be uniquely identified by its telephone number.
ldentity Cand number (NIC No) is used to identify a person uniquely.

Above statements are represented by the ER diagram in Figure 4.2.

Telephone No

to

Figure 42: ER diagram

Convert the above ER diagram into 3rd Normal m@m be implemented in relational

Do not
write
in this


https://ict-with-udula-priyankara.online/
https://ict-with-udula-priyankara.online/
https://www.ict-with-udula-priyankara.online/
https://www.ict-with-udula-priyankara.online/

%

information and Communication Technology (20) RE
Paper Il Part A \d

2017

Q. No. | Model Answer

@

1 mark

[ salas rasport
1 maxk
1 =mazk

1 mark

payment receipt
/

Cashiax
& iaventoxy

Each blank filled in with the
correct answer 1 mark

jon- 2017 | A te ¥ inehuded.
. n . g Scheme) | G.C.E. (A/L) Examination - 2017 | Amendmants to be inchiud
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2.(a) ¢ Termination (end) of the process 1%3
e Time out (end of the time slice) A
e Blocked for input/output operation Yedt? o)
o\ Al
2.(b) * Store the current state of the running process in théPCB)~ v |1
¢ Load the state of the process to be continued to the CPU from.th -.@ U i 20r0
e Transfer the control to the process to be continued. 1 @
2.(c) e Power on self test (POST)/Executing or running BIOS 1x3
¢ Run the bootstrap program to load the 0/S to the maiffmemory.
¢ Transfer the control to the O/S, @
3.(a).(i) | A transaction between two persons can be classified as-B2Bif following conditions are | 1x3
satisfied CArsad gl ok
1. It should be an online service/transaction;
2. The buyer should be a business user
3. The seller should be a business user 3
3.(a).(ii) | If the seller is replaced by a softwarefagent, then agent represents a business user. 2or8
Therefore, main proactivebehavior is to take actions that makes high business profit. |
e oy .
\\@mm% LS RMT AN O U \
3.(b).(i) | insertintostudent} A 3 Y [Aonly] |1
L. values('10001', Saman Kumdra', '78, Mahara road, Maharagamla') [AandBonly] | 2
~ | T [A, Band (] |3
| B c
| Or
insert into student (student_no, name, address)
values('10001', 'Saman Kumara', '78, Mahara road, Maharagama')
; The order of the values in the values statement should be same as the order of
attributes in insert statement.
Note: All names should be as in the table definition. @
3.(b)-(i) > 2

\; &
update student } Trperk lmmﬂ— o 3,:'.\ A —

set address = '13, School Lane, Jaffna’

L Que 3: Yo
where student_no like '10001%' } imark ot

Ch
or
update student

L
set address = '13, School Lane, Jaffna’ } damerk
where student_no like '10001' } 1mark
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update student } X 2
set address = '13, school Lane, Jaffna’

where student_no = '10001’ } imark
(Note: The = sign only works for varchar type attributes)

Or

update student
sat address = '13, School Lane, Jaffna’ }M e
(Assumptlon: Only one student record In the database) } 1mark

4.(a).(1)

| Process

\ LAk ekl \§
- - .- (‘J\/‘é‘ﬁ Mﬂ
System bou

Ty guonld 1R

- - -
lé
=S
Q
=
r=1
=3
b
r €
¢
N
7\‘ Q
T

r
1
i
]
1
]
1
1
1
I
1
]
1
]
1
1
1
]
]
1

a.(a).(1) | In closed system both Input and outputgre available within the system. Ssy+' |

(=
Or
J| A sentence with tmem ning
a.(b) person(NIC wv\?‘
mobileP. eNo, NICNo) c,\’\ ‘{I\/
’ ~
E atlon with attributes 1 mark ‘N}-. & Q b4
\

7
W RIS
4\ //\Lx\
¢ PAAC
i\l
Ay
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i

* # Answer any fowr questions ondy. -

1. A switch (A), & mperstre 3
gy ofgbrii: - legu@)adaum(Qdm&mwmmandm
and "OFF states of the swith

Wmmmﬁmdmmm&muweuasu'on'

0, respectively. PXTITT semsor and the mer zre represented by the logical valves | and
The aircoodiiooer can be tmed on or oF e b G o e W o
respectively. m2omlly by seming the switch 19 its ‘ON” or ‘OFF states,

3
i
!
!
,‘
| : STpe=hoe in e room. JHe temmpeggture sensor sets its state as ‘ON’
f “.Of‘?‘bc?mwmhm\‘d}'ﬁgh:amaﬂznam&ﬁmdmmvﬂm.
' mm‘&m“m@'ﬁm&muc&th&d&m&dwismmmymghﬂor
| lower than the predeSined tempermiore valpe.
Tkﬁms:s.itss:?z_esWm—ﬂizrzhsamhcvz!uemdsdsm:mas‘ON'onceit
reached. The air<condtions is amtomuericelly twped off when the timer reaches the preset time value.
(@ Coestruct 2 logic Grouit using caly NOR 388y comerol the zirconditioner. Clearly show truth table,
‘ Boclean expression and Bociean slgedraic & wsed for smplification. Assume that the electricity is
| always supplied © o sr<condtoosr
(0} The user of the sirconditoner szys St \thefwitch is not reguired for the operation of the air-conditioner.
Do you sgree with this stesecm®er? Jos@iV vour soswer.

’J

A "Demiliterizad Zone (DMZY]§s 2 subnet that contzins 2nd exposes an organization's external-facing services
such a5 web servers (public [P addnSses) © the Intermet while hiding eway the rest of the network behind
P2 Brewall (using local [P addresses).

A peework with 3 DMZ belooging 0 20 orgasizesion bes beea assigned the public IP address range 123.45.67.0
with suboet mask 235235255224, The DMZ comt=ins the web server and the mail server. It has 4 additional
suboets for inerngl vse baving the private [P address range 10.0.0.0 with the subnet mask 255.0.0.0. Computers
in each suboet cah soosss resooroes in 2!l other suboets. The organization decided to connect the 4 subnets
{ mmm&mmamqm.muﬂmmmmafmmmwmﬂclients.

Ideotfy he, Bevices required to estaiNish this petwork aod draw a petwork diagram to show the logical
:mmofrh: @m‘smmm.zﬂhdmemdmemm with appropriate
P address®s. Cleurdy show all calculzsions stating assumptions you made.

Further, it is also required o explain the changes doos 10 an [P packet released by a computer to a subnet
by the proxy server when it travels 1o the Intemt.

- A state bealth authority decided to condict D SWArEDSSS program as an online service through Intemnet to
reduce deague infection by tremsmission of the virus through the mosquitoes. This service provides information
0z bow 10 adopt dengue cootrol approaches, such as damng the eavironment, destroying non-essential
cootiners that prowide larva habitss eic., in onder to minimize mosquitoes’ propagation.

() To which ecommerce type does this service belong?

() If the service is extended by allowing crgnmms to register their services targeting minimizing the
spread, wint is the ecommerce Hype of IS extended service? Justify your answer.

() Assume that a registered organization provides @ service for itself to submit the details of the identified

deague breoding places o the stz =uthority coline. Why is this service mot rightly considered as B2B?
What is the comect ecommescs type of this service?
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v, o fa s | i s 5

CIBRATTINETS I LA TSI - ST N3 /“""’M ‘ ,5

de HIES WL (e,

, ; goe e oy o G

fﬂ‘?ummhﬂwnm?‘w” ng"wﬁm‘*’m
mmmmw-mb ,ﬂ:m”aﬂpu!nm:lﬂ?&l'm&g

; i ) e decivon maring
"‘dmmmmmmdmmmwmm 5

: smits <08 « Toe S 64

;Lm;w@mdmxmbwmdmumbwdﬂ'&m _.

: mnwxmsmpamm&manwmwm , )

-:'9;&wxﬁw&mammﬁgﬁniﬂmumdnm?tﬂﬂs;‘-

m;w-m&wmmmm&:mmﬁ

{8 Eocode e slporitem g"mh&(ﬂm:ﬁmm‘ lmgzge. | 1 2ETETIS0S,
¥ sy

&) Develcp 2 fonction iz Pydhos 0 write bomsehold mumber, meier ¢

cheped 2t the ead of = exisming wxt file memed “debof.

|5, The canSdames who hzve beem seleceed for mmivensity estrace shord er Ypr the given academuc yea|
=it B miversty gven © Seom. Candidewes who do oot regisier before me\Last deme’ ammomoed Oy e
wiversiny will lose their smiversity evtrzace. Once 2 candidete regiflen =ith e Even miversity, the czaSize
becomes & regisored sodent of thz wmiversity. Registered eppiy for finzncial soppon, such =
Matapola scholensiipe snd Burserw, sepoarstely. These corld be gither Fdl or permal All
registerad stlderss will receive 2 leptop. However, its et be trzmaferrsd o another sudent

The user requiremens of e zhove sysem ae Esed DA shall be sbie 10 obizim
{2 2 ixt of stodenss regiscered for 2 given 2cademic ith 2 gives wmveniity.

(d) izformation (soch a8 model, serisl
(©) hEst of stadents win spplied for Gmenciel
Drew an Eotity Relsfomsitp (ER) &

wazTzmty period) 2bont the laptops given to each student

D design 2 Cdetzbese 10 rrprosent the 2bove symem
clezriy.

-

I\me:ljtternthem

PRIZES

» [stplece Re 10.000%=
» 2ad place Rs. 7.500=
u 3rd piace Ry, 5,000

ENTRY FORM

Pirave il and sbed this cofioe cory form © et e cepeteen

SRR

Figure 6.1: A wed page of the websie
(a) Using appropriate HTML tags, create sn HTML file roquised o render e wcd joge = dows = s 81
Your code should satisfy the following requirements. ,:
It is required to format the text of the list in ‘Calibei® font, 14 poiss Ngh, &= md color The Bt shouid
be bulleted with squares. Format the Jist by using intermal or extorns! shyie sheess ondy.
' when a user clicks on the . . ’ S gieenl
e 03 o b i s TR S S RS TR

H
]
{
H

g |

4

web page with the entry form is ‘formhemi®.

Lt
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"~ Figure 62 Entry fom
(b) Using appropriate HTML tags, create an HTML file to render the entry form given in Figure 6.2 The optione
for ‘Grade Category® are given in the Figure §.3. Your code should satisfy the following requirements.

When the ‘Clear your Entries’ button 4s, clicked, @ll the entrics of the form sbould be cleared. Similarly,
when the ‘Submit’ button is clicked, the\form' should be submitted to the server

Figure 63: Options for Grade Category

L
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Information and Communication Technology (20)
Paper Il Part B

Input that represents Switch (A) Is not in the Boolean expression/circuit/solution.

2017
Q. | Model Answer
No. -
1.{a) Alrconditioner (Q) {Define output]
Ajsjcia t columns + 8 combinctions] 1+1
LU O I I
ojo|1]0 {Correct output columnj | 2
1|01
0l1]l1}0
10|10} 0
1]0(1}|0
111101} 1
11|10 0\/
Q=ABC+ {Scolecn expression] | 3
=B.C. A% distributive law T . X ,
=B.C complement law _| [Atleast one correct rule] | 1
{Solution] | 1
A B C .
@) {Grevit] | 3cr0
0\{ T
’—------------- Q
! |
L
1
: 1
! i
1.b) | Yes

Therefore, it Is not required for the operation of the air-conditioner.
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Assume that the entire private address rangs Is used (it can be any range)

Since there are 4 subnets, It (s required to divide the address range into 4 segments.
For this, add two more bits to the subnet mask, g

Subnet mask length bacomes 10,
11111111.11000000.00000000.00000000
Therefore, the 4 subnets would be:

1. 00001010.00000000.00000000.00000000 = 10.0.0.0/10

2, 00001010.01000000,00000000.00000000 = 10.64.0.0/10 {1x4]
3, 00001010.10000000.00000000.00000000 = 10.128.0.0/1Q

4. 00001010.11000000,00000000.00000000 = 10.192.0.0/10

(if they declde to use /24 ranges, they should assume that 255%addresses are enough
for each subnet. Then they should show the selection of #24 ranges.)

Note: If the selected ranges are shown In the dlagram these 4 marks can be given

Needed Devices: 05 Hubs, Switch, Router, Ficewall, Web Server, Mail Server, Proxy |9
server, Application Server.,

LAN 01 LAN 02 [Switch] |1
10.0.0.0/10 10.64.0.0/10 [Application server 2
° o Switcl 0 in any LAN]
+ i-‘i.;!—- * [Web server and Mail Server | . \
inomzy | 1V
LAN 03 LAN 04

[Proxy Server in DMZ] | 1

10.128.0.0/10 10.192.0.0/10

, ? ? ? , [ROUte’] 1
* [5 LANs connected to the
: . I switch] 2

Application Web Mall Proxy]
123.45.67.0/27

DMZ Flrewall

Since any computer In any subnetwork can access resources in all subnetworks, the
application server can be established in any subnetwork. Since it is for Internal
clients, it should not be located in the DMZ. '

Note: 1.Proxy Server could be directly connect to the Switch
When the packet goes to the proxy server, its source IP address is rewritten with the | 2
public IP address of proxy server.
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3.(a)

G2C or Government to Consumet/ ¢ ({129 4Y%V

3.(b)

G2B or G2E,

It Is a service provided in online by the Government to Business or Employees:

3.(c)

Because It Is a service provided by business to govern
Therefore itls B2G,

ment.

3.(d)

Law: To prepare fine calculations mechanism accordi
identified place).

Epldemic Control Division: (To develop formula to m
[dentified place related to dengue breeding).

ngto th! (c of the
Rure the'criticality of the
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g’l’!j 4'(‘) < start , 4
Read housedld d(no thno)
Past Reading (rpast) f
Presesnt Reading (%araem) {Input] | 1
unitsused = rpresent - rpast v
PYment =0 [Cakulatien] | 1

[Canditian] 1
payment = unitsUsed * 5.00 [COICU/UU'OII] 1

payment = 64 * 5,00 + (unitUsed - 64) *10.00

!

/ print payment /é [Print] |1

( a:\d ) [Correct diagram] | 1

4.(b) | bno = input("Enter house hold number ->")
rpast = int{input("Last meter géading =>")} finput]| 1
rpresent = int{input("Present'meter reading ->"))
unitsUsed = rpresent - rpast

[Calkulation] | 1

if unitsUsed > 64: {if with correct computation] | 1
payment = 64 * 5.00 + (unitsUsed - 64) * 10.00

alse: {else with correct computation}| 1
payment = unitsUsed * 5.00 }

print{payment) [Print] | 1

Assumptions : The assumptionsare based on the programme
o e present meter reading is higher than the past meter reading

e Integer valuesshould be entered for present and past meter readings ®!

4.(c) defwritetofile(houseNo,rpast,rpresent,charge):

f= open("deb.txt*,"a")
print(houseNo,rpast,rpresent,charge file=f,sep="")
f.closel)

[ T =Y

Note: f.write(str{ houseNo)+ " "+ str{rpast)+ " "+ str{rpresent) + " " + str{charge))
f.wvrite(“%s s Y%s %s" % (houseNo,rpast,rpresent,charge))

©,
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Ajissaaun

S |enueuiy

T 0w N

doide]

Sumo

S <[

Entities 1x 4

Relation with correct cardinality 1x3

| Acceptable attributes attached to any entity 1 mark each maximum 5

Attributes attached to relation 1x2

Circled section
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6.(a)

<html >
<head>
<meta charset="utf-8">
<title>Information</title>
<style> OR <style type="text/css"
Ii{ b
font-family: calibri; [or “calibri"]
font-size: 14pt;
color: red; §

list-style: square; [or list-style-type
}

</style> -
OR <link rel="stylesheet® type="text/css" href="def.css">
</head>

<h1>Student Art Competition</h1>

<h2>Theme: Litter on the environment </h t least 2 different levels]

<h3>PRIZES</h3>
<ul>

<li>1st place Rs. 10,000/=</li>

<li>2nd place Rs. 7,500/=</li> ; b
<li>3rd place Rs. 5,000/=</li>

<h3>ENTRY FORM</H3S .

<p>Please fill and @ is <a href = "form.html" target = _blank>
onlinee to enter the competition. </P>

</body>
<ntml>

.. S

2.
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- 34b) | <html>
<head>
<meta charset="utf-8">

<title>Entry Form</title>
</head>

<body>
<h1>Art Competition Online Entry Form 2017</h1>

<h3>Theme: Litter on the environment</h3>
<form method = "get" action = "script.php">
Name: <input type="text" name="name" >

<p>Gender:
} 1

[<form> anghs fform) | 1

<input type="radio" name="sex" value="male" > Male
<input type="radio" name="sex" value="female" > female

</p>
<p>Grade Catégmry S -
<select name="ageGroup">
<option value="g1">Grade 1 - 2<foption>
<option value="g2">Grade 3 - 6</option> | 1
<option value="g3">Grade 7 - 10</option>
: <option value="g4">Grade 13=13</option>
</select></p> 3
<p>Art media: </p> -
; <input type="eheekbox“name="medial" value="Colour” >
/ Water Colours
<br V>
<inplt type="checkbox" name="media2" value="Pencils" >
’ Colour Pencils B 1
| <br />
ginput type="checkbox" name="media3" value="Crayon" > Crayon
<br/>
<input type="checkbox" name="media4" value="Chalk" > Chalk |
' <p><input type = "reset" value = "Clear your Entries"></p> 1
| <p><input type="submit" value="Submit" ></p> 1
</form> ¢

</body> _
</html> : @

s
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